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[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
All questions are compulsory.
All questions have internal choice.
Draw neat diagrams wherever necessary.
Use of simple calculators is permitted.
Figures to the right indicate full marks.

N.B:

vk wN e

Select the best answer from the given options and rewrite the statement. (Any Ten) (10)
The slope of a straight line is

a) Increasing

b) Decreasing

c¢) Constant

d) None of the above
The downward sloping demand curve states that

a) As price increases, quantity demanded increases

b) As price decreases, quantity demanded increases

c) As price decreases, quantity demanded decreases

d) None of the above
If we were to sum the quantity demanded by every consumer in the market at every price and plot those
sums against the relevant price, we would obtain the

a) Supply curve

b) Summed demand curve

c¢) Market demand curve

d) Vertical demand curve
When the price of a product is increased by 10% and the quantity demanded decreases by 15% we say
demand is

a) Relatively elastic

b) Relatively inelastic

c) Unit elastic

d) None of the above
Time series analysis considers

a) Trends

b) -~ Cyclical and seasonal fluctuations

c¢) Irregular movements

d) All of the above
Demand forecasting is always

a) Unreliable

b) Accurate

c) Conditional

d) None of the above
We get fewer and fewer additional units as we add more and more units of inputs to the production
process. We call this fact the

a) Law of diminishing marginal utility

b) Law. of diminishing returns

c) Law of supply

d) Law of demand
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viii) Economies of scale exist when
a) Increasing production reduces average cost
b) Increasing returns applies in the short term
c) Doubling factor input doubles output
d) Greater experience in producing the product reduces average cost

ix) MRTS stands for

a) Marginal rate of technical structure

b) Marginal rate of technical substitution

c) Both (a)and (b)

d) None of the above
x) Health insurance premiums paid for employees by the firm are an example of

a) Variable costs

b) Fixed costs

c) Both (a) and (b)

d) None of the above
xi) The cost of producing 5 units is Rs.567 and 6 units is Rs.768. The MC of producing the sixth unit is

a) Rs.128
b) Rs.113
) Rs.201
d) Rs.768

xii) Average fixed cost equals
a) Fixed cost divided by total output
b) Change in fixed cost divided by total output

c) Total cost divided by fixed cost

d) Total cost minus variable cost

Q.1 B) Match the concepts and their definitions. Write the concept with its appropriate definition. (Any Ten)

Q.P. Code :00488

Concepts Definitions
1. Demand curve a. Measures the change in quantity demanded of a
good given a change in the price of that good.
2. Functions b. Locus of points of tangency between the
isoquants and isocost lines.
3. Supply curve c. Firms actual expenditures or explicit costs
4. Price elasticity  of d.  Measures responsiveness of quantity demanded of
demand a good to a change in its advertising expenditure
5. Promotional elasticity e. Total revenue minus total cost
of demand
6. Rectangular f. A graphical representation of the inverse
hyperbola relationship between price and quantity
7. Expansion path g. Are also known as sunk costs
8. Economies of scope h. Reduction of cost by producing two or more goods
or services jointly
9. Longterm i. Shows the number of units that producers are
willing to sell at each price
10. Fixed costs j. Unit elastic demand curve
11. Total profit k. When firms are able to change all of the factors of

production including capital

12. Accounting cost

Shows the relationship between two or more
variables
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Attempt Aand BOR Cand D
What is the scope of business economics?
What is opportunity cost? Explain its significance in business economics.
OR
With the help of a diagram explain the determination of equilibrium market price and quantity.
Using diagrams explain changes in market equilibrium due to changes in demand.

Attempt Aand BOR Cand D
Write a note on the significance of the concept of price elasticity of demand.
What is the difference between price elasticity, income elasticity and cross elasticity of demand? Is the
demand for Angel chocolates price elastic or inelastic if it is =-0.2?
OR

What is demand forecasting? Explain any two of the following methods of demand forecasting.

i Delphi method

ii. Consumer survey method

iii. Regression method

iv. Time series analysis
Given the following demand function Qpx=100-0.45P, what is your forecast for Qox when Py is 20,30,40?

Attempt Aand BORCand D
Explain producer’s equilibrium as the least cost combination.
Explain the law of variable proportions.

OR
Explain the various internal and external economies of scale.
Using diagrams explain the law of returns to scale.

Attempt Aand BOR Cand D

Define and illustrate with a diagram
i TFC, TVC and TC
ii. AFC, AVC and AC

Given TFC as Rs.50, calculate TVC, MC, AFC, and AVC and AC.
Q 0 1 2 3 4 5 6
TC(Rs.) 50 75 95 120 150 185 225
OR
Derive the LAC curve using the short term average cost curves of a firm.
What is the learning curve? Explain with a diagram.

Attempt A and B OR write short notes on any four.
Explain the nature of demand curves in different markets.
What is the breakeven point? Using diagrams explain how the breakeven point changes when there are
changes in price and fixed cost.
OR
Write short notes. Any four.
Slope of straight lines and curves.
Importance of demand forecasting.
Properties of isoquants.
External economies of scale.
Fixed and variable cost.
Limitations of breakeven analysis
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Please check whether you have got the right question paper.
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. MRTS ¥ 90T &4 § 37T¢.

31) Marginal Rate of Technical structure

&) Marginal Rate of Technical substitution
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31 311foT 9 fohar & 31107 3 71 U= 3k foreT.
31) SHTGHTT 372 AMEATHT SATCAT TAST .
§) T W FEUTS HI? AT SATTHT A AT Fged TISC .
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%) MHAAT TR Tferdd STTR RhAATY T TRATOT FTSERIIT T,
8) AN SEATHS SToR HATAHS BIUTR S ol JTehclledT JTER FISE .

31 311foT § fohar & 31107 3 71 U= 3k foreT.
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ToiTel AT dleholed! ddaehdl 5iX -0.2 JTITH oY Tdfeh 37Tg 37T Toid e 3118?
forar

o¢
oly

o¢
ol

ol
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Y STeTHTeT A0T faeeivoT
3) Y& ALTUN thefef feel 318 Qdx = $00 — 0,89 Px
S aifasTenTelal fohaTet 20,30, & Yo UTH ATV GRUTATT JHT 3HaTel I AT Al 1.

31 31701 7 fohar & 31f0r 3 I1 gRaAi= 3cay e
37) ToRATeT TrTeT HANT FGULA ScdTGehTedT GHAlCd ETSEIHT0T .
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31 3for 9 fohar & 3101 3 J7 gAY 3k e,
31) 3MhciT=T TR SATET F TISEIRIIT .
i) TeRUT FERR @ (TFC), TehUT Sielall T (TYC) 37101 Tehor T (TC)
if) FXET FEAR @ (AFC), TS erdr @A(AVC) 30T JIE @ (AC)

40196050DEE164923D815312A652E1BC

ol

o¢
ol

o¢
ol

o¢



9.&

9.&

C0141 F.Y.B.COM. (CHOICE BASE) (R 2016) SEMESTER |/ C0534 BUSINESS ECONOMICSI|

Q.P. Code :00488

) FERR T .90 SAHT TG, AT Wlellel HISCHITAT HTUR THUT Feeldl G (TVC) oly
AT TT MC, TR TR @RI (AFC) ERIET SigeldT @ AVC 37TT0T I @ (AC) .
Q o 9 R 3 Y g &
T(Rs) Yo Y RY 90 240 2¢Y R
far
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S) 3TEATST Ish FEUTS! H1Y? JTehciedT TR FICEIHIOT . ° oly
37 fhaT € 3720aT Wrellolteh! SHUTcTRT IRER &7 forgT,

37) AT TSRYSAIS ATV gehi TTET TS T, g0

9) TATNG FEUTS H1I? SiegT feharet MTTOT FEUR WaiTel deel Bl 1M el HATSiG T seelal & Hhclredn 3T go
TS hT.

foFar
GTellel YehT ShIUTcATEr IRaER €T forgT. R0
i) EXe5 YT HITOT IehraT 3R
ii) ATITONAT ATISTHTAA ST Hgoed
iii) GH3cUTGST arehT=iT Aferse
iv) THTOTIT §Te ddar
v) R g Sgarar @
vi) FAfg fazeomrear #dfer
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